/KB RARERBRE(THIE

=2H)

EHE BAfL HAEME i £ /N FE
# kK & A H 2828 2828 2828
AR X REHLETKER | mRETLTKER
Rk #® R SIEITHE e Ko TREH
% 7K i Zl 9:45 10:15 10:35
= B x = B R E B R E B2
= B °c) 13.1 135 10.3
7K B °c) 9.9 11.0 10.7
— % 8 ] (5% /mL) 100LLTF 0 0 0
X 2 B BmEIhiENZE T T EN T
B OO OEE SR (mg/L) 0.04LLTF 0.004k i 0.004% i 0.004k i
TVERUVZDILEY (mg/L) 08T 0.07 0.06 0.07
& ES [id (mg/L) 06T 0.05K % 0.05K % 0.05K %
4 oo &R L L (mg/L) 0.06LLTF 0.003 0.002 0.002
S 44 oo B B (mg/L) 0.03LLTF 0.003 0.003 0.003
SJRE/O00A%Y (mg/L) 01LLTF 0.004 0.003 0.003
AN = (mg/L) 01T 0.012 0.009 0.008
YR /A =N =l (mg/L) 0.03LLTF 0.002 0.002K i 0.002 i
JoESH/OO0A4Y (mg/L) 0.03LLF 0.005 0.004 0.003
J o ® K I L (mg/L) 0.09LLTF 0.001K# 0.0013k i 0.001k %
FILEZHLRUVZDILEY (mg/L) 02LLTF 0.02 0.01 0.02
BEUZTOIEEY (mg/L) 03UTF 0.005 0.005K i 0.0053 i
Bt 14 F > (mg/L) 200L4F 143 16.2 14.1
S T X R = v (mg/L) 0.00001LLF 0.000001 0.000001 0.000001
2-AF AR A=) (mg/L) 0.00001LLF 0.000001 0.000001 0.000001
M@ ERRRTOCODE) (mg/L) 3LUT 038 0.8 0.8
pH & 5.8LL E86LLTF 7.2 7.2 7.2
S BEETRHINIE BEhL BEEHL BEhL
R = BEETRHINIE BEhL BEEHL BEhL
= E () 5L 0.5 i 0.5 i 0.5k i
A E (B 2T 01K 01K 0.1k
i (mg/L) 01kl E 0.4 0.4 0.5
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